

$$\log(r-x) - \log \frac{1}{(x-r)^r} = r \Rightarrow \log \frac{(r-x)}{(x-r)^r} = r \Rightarrow \log \frac{(x-r)^r}{(x-r)^r} = r \Rightarrow$$

$$\log (r-x)^r = r \Rightarrow r \log (r-x) = r \Rightarrow \log (r-x) = 1 \Rightarrow r-x = 1 \Rightarrow \underline{x = -1}$$

$$\log \sqrt{r} \Rightarrow \log \sqrt{r}^{+1} = r$$

$$r^{x^r - r} = 11 \Rightarrow r^{x^r - r} = r^{\log 11} \Rightarrow x^r - r = \log 11 \Rightarrow x^r = \log 11 + r \Rightarrow x = \frac{r + \sqrt{r^2 - 4r \log 11}}{2}$$

$$\log_y (x-r) = \log_y (r + \sqrt{r^2 - r}) = \log_y r = \frac{1}{r}$$

$$\log_r r = \frac{0}{1} \quad \log_{1/r} 1 = r \log_{1/r} r = r \times \frac{\log_r r}{\log_r 1/r} = r \times \frac{\frac{0}{1}}{r + \frac{0}{1}} = \underline{\frac{0}{r}}$$

$$\log_r r = 1 \quad \log_{1/r} r = \frac{\log_r r}{\log_r 1/r} = \frac{\frac{0}{1} + \log_r r}{\frac{0}{1} + \log_r 1/r} = \frac{1/r}{1/r} = \underline{1}$$

$$(a \log_{1/r} r) x^r + a x + b \log_{1/r} r = 0$$

$$x = -1 \Rightarrow a \log_{1/r} r - a + b \log_{1/r} r = 0 \Rightarrow \log_{1/r} r (a+b) = a \Rightarrow \log_{1/r} r = \frac{a}{a+b} \cdot \frac{1}{\log_{1/r} 1} = \frac{a+b}{a} = 1 + \frac{b}{a} \Rightarrow$$

$$\frac{b}{a} = \frac{1}{\log_{1/r} r} - 1 \Rightarrow \frac{b}{a} = \log_{1/r} r - 1 \Rightarrow \frac{b}{a} = \log_{1/r} r \Rightarrow (r^{1/r})^{\log_{1/r} r} = \sqrt{a}$$